= =
o o)
o o

H
N
o

*

do(W"™" + D (2010)™) / dn™|
= =
S B

00]
o

(o))
o

40

20

Ratio to CMS
[N

0.5

13000 GeV pp
[T T

[ n' (CMS W+c production) i
. m CMS ]
— —&— Pythia 8.308 default B
— - - Pythia 8.308 tune-4c -
-2 Pythia 8.308 tune-4cx ]
B [ B 7]
— oo %-""'"--—.-E:'_“.“_“_”_"_"_"_”_“_“_“ :::: B —
= TE e e -
- g _
- u T
_l 1 | 4+ 1 | | | | | | | | 4+ 1 | | | | | | | | | I_
:l T T T T T T T T | T T T T | T T T T T T T I:
- g E —
| T e _
- B //)’7" o
B . _'_.»'/-4___~." __________________ - - _
- E‘/ / - _g/-/ / ]
B * B

Rivet 3.1.10, = 2.5M events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


